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Import urandom
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value = urandom.getrandbits (1)
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value = r.value() # BEEIEWALAANENLA (E[E 0 3 1)
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from machine import Pin

import utime, urandom

r = Pin(14, Pin.OUT)
Pin(12, Pin.OUT)
Pin(13, Pin.OUT)

O Q9
[

while True:

r.value (urandom.getrandbits (1))
.value (urandom.getrandbits (1))

o «Q

.value(l if r.value() == 0 and g.value() == 0 else

urandom.getrandbits (1))

utime.sleep ms (500)
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from machine import Pin, PWM

import utime, urandom

# ¥th1t PuM, RARRER (FReBAEENIER 1, 1008 =TE)
led = PWM(Pin (14, Pin.OUT), fregq=1000, duty=1023)
led.duty(512) # EEX 1/2 (50% =E)

led.duty (128) # ETEE 1/8 (12.5% =ZE)

led.duty (0) # T/E 0 (KE {dz%z{wmﬁ , STERARET)
led.deinit () # [EEB] PWM
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from machine import Pin, PWM

import utime, urandom

r = PWM(Pin (14, Pin.OUT), freqg=1000, duty=0)
PWM (Pin (12, Pin.OUT), freg=1000, duty=0)
PWM(Pin (13, Pin.QUT), freg=1000, duty=0)
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while True:

t BERRERRAHIERE

r switch = urandom.getrandbits (1)

g _switch = urandom.getrandbits (1)

b switch = 1 1f r switch == 0 and g switch == 0 else
urandom.getrandbits (1)
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for 1 in range(1024):
= 1:

if r switch =
r.duty (1)

if g switch ==
g.duty (1)

if b switch ==
b.duty (1)

utime.sleep ms (1)

# B
for 1 1n reversed(range (1024)):
if r switch ==
r.duty (1)
if g switch ==
g.duty (1)
if b switch ==
b.duty (1)

utime.sleep ms (1)

s
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° 1§E]E %%%%%r from machine import Pin, I2C, PWM
from hcsr04 import HCSRO4

import bhl750fvi, utime

sonar = HCSR04 (trigger pin=0, echo pin=16)

r = PWM(Pin (14, Pin.OUT), freg=1000, duty=0)
PWM(Pin (12, Pin.OUT), freg=1000, duty=0)
b = PWM(Pin (13, Pin.OUT), freg=1000, duty=0)

while True:

distance = sonar.distance cm()
light level = bhl750fvi.sample (I2C(scl=Pin(5),
sda=Pin (4)), mode=0x23)

if 2 <= distance <= 30:
led light value = 1023
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else:
if light level > 256:
light level = 256
led light value = (256 - light level) * 4 - 1

r.duty(led light value)
g.duty(led light value)
b.duty(led light wvalue)

utime.sleep ms (50)
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